
klws: d`svIN (gixq) tYst-2 (ie`k AMk vwly pRSn Chapter 8-15) ku`l AMk: 50  

1. id`qI iqRBuj ∆ABC iv`c cos A dw mu`l kI hovygw[  (a) 
BC
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    (b)  
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     (c)   
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    (d)    
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2. id`qI iqRBuj ∆ABC iv`c tan A dw mu`l kI hovygw[  (a)  
AB

AC
   (b)   

AB

BC
    (c)   

BC
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    (d)    
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3. ie`k c`kr dIAW _____ sprS ryKwvW ho skdIAW hn[  (a)  1    (b)   2   (c)    3   (d)  Anyk 

4. 7 sec2A − 7 tan2A brwbr hY[   (a)  9           (b)   7        (c)   −7         (d)    1 

5. ie`k c`kr dIAW ______ smWqr sprS ryKwvW ho skdIAW hn[  (a)  1    (b)   2   (c)    3   (d)  Anyk 

6. kox θ vwly ArD ivAwsI KMf dy sMgq cwp dI lMbweI ikMnI hovygI[  

(a)  
𝜃

360
× 𝜋𝑟2     (b)  

𝜃

720
× 2𝜋𝑟    (c)  

𝜃

360
× 2𝜋𝑟       (d)   

𝜃

180
× 2𝜋𝑟             

7. θ dy v`Dx nwl cos θ dw mu`l vI G`tdw hY[  (shI/glq)   

8. iksy bwhrI ibMdU qoN c`kr auqy ____ sprS ryKwvW iK`cIAW jw skdIAW hn[ (a)  4    (b)   2  (c)  3  (d) 1  

9. iksy c`kr nMU do ibMdUAW ‘qy k`tx vwlI ryKw nMU  _______ kihMdy hn[ 

(a)   sprS ryKw   (b)   ivAws    (c)   ArD ivAws (d)   Cydk ryKw     

10. SMkU dI vkr (pwsvIN) sqw dw KyqrPl 𝜋𝑟𝑙 huMdw hY[   (shI/glq) 

11. ArD ivAws R vwly c`kr dy ArD ivAwsI KMf dw KyqrPl pqw kro ijsdw kox P° hY[ 

             (a)  
P

180
× 2𝜋R            (b)  

P

360 
× 2𝜋R            (c)  

P

180 
× 𝜋𝑟2         (d)  

P

720 
× 2𝜋𝑟2    

12. tan A  dw  m`ul hmySw 1 qoN G`t huMdw hY[      (shI/glq) 

13. c`kr Aqy ausdI sprS ryKw dy sWJy ibMdU nMU ______ kihMdy hn[  

(a)   kyNdr  (b)  sprS ibMdU   (c)   bwhrI ibMdU   (d)   jIvw 

14. θ dy v`Dx nwl sin θ dw mu`l vI v`Ddw hY[  (shI/glq)  

15. id`qy gey ic`qr iv`c jykr PQ= 8 cm hovy qW PR dI lMbweI d`so[  

(a)  6 cm    (b)   8 cm   (c)   10 cm  (d)  iehnW coN koeI nhIN 

16. sin(A + B) = sin A + sin B       (shI/glq) 

17. iksy c`kr dI sprS ryKw ausnMU _____ ibMdUAW qy k`tdI hY[  (a)  2    (b)   1  (c)  3  (d)  Anyk 

18.    _______ + cos2A = 1       (a)   sec2A         (b)   cos2A        (c)   sin2A         (d)    cot2A 

19. iksy ck̀r dy bwhrI ibMdU qoN c`kr auqy iK`cIAW geIAW sprS ryKwvW dIAW lMbweIAW brwbr huMdIAW hn[ (shI/glq)  

20. 1 + cot2A = ___________     ij`Qy 0° < 𝐴 ≤ 90°  (a)  cosec2A    (b)   cos2A    (c)   sec2A     (d)  sin2A 

21. iksy c`kr dy bwhrI ibMdU qoN c`kr qy do sprS ryKwvW iK`cIAW jw skdIAW hn[ (shI/glq)  

22. c`kr dy AD̀y ih`sy dw KyqrPl = _______ (a)  
𝜋𝑟2

2
       (b)  

𝜋𝑟2

4
        (c)   

𝜋𝑟2

3
         (d)   2𝜋𝑟2         

23. cot A , cot Aqy A dw guxnPl huMdw hY[  (shI/glq)  

24. ArDivAws 𝑟 Aqy aucweI ℎ vwly SMkU dw Awieqn = _____  

(a)  
1

3
𝜋𝑟2ℎ    (b)  𝜋𝑟2ℎ     (c)  

2

3
𝜋𝑟2ℎ      (d)   

4

3
𝜋𝑟3ℎ       

25. iksy c`kr dy iksy ibMdU qy ‘qy sprS ryKw, sprS ibMdU qoN jwx vwly ArD ivAws ’qy lMb huMdI hY[ (shI/glq)  



26. ArDivAws 𝑟 vwly ArD goly dI ku`l sqHw dw KyqrPl = _____ (a)  𝜋𝑟2  (b)  2𝜋𝑟2  (c)  3𝜋𝑟2 (d) 4𝜋𝑟2  

27. ArD ivAws r vwly c`kr dw Gyrw 2𝜋𝑟 hovygw[        (shI/glq) 

28. kox θ vwly ArD ivAwsI KMf dw KyqrPl = _______ (a)  
2𝜋𝑟𝜃

180
       (b)  

𝜋𝑟2𝜃

360 
        (c)  

2𝜋𝑟𝜃

360
         (d)   

𝜋𝑟2𝜃

180 
    

29. do GxW nUM joV ky bxI AwikRqI dw nW d`so[   (a)   Gx  (b)   vylx   (c)   Gxwv   (d)  vrg 

30. 1 sm ArD ivAws vwly c`kr dw KyqrPl 𝜋 vrg sm hovygw[  (shI/glq)   

31. ArDivAws 𝑟 Aqy aucweI ℎ vwly islMfr dw Awieqn = _______ 

(a)  
1

3
𝜋𝑟2ℎ   (b)  𝜋𝑟2ℎ     (c)  

2

3
𝜋𝑟2ℎ      (d)    2𝜋𝑟ℎ       

32. bylx dI vkr sqw dw KyqrPl 2𝜋𝑟ℎ huMdw hY[   (shI/glq) 

33. goly dI sqHw dw KyqrPl Aqy GxPl dw Anupwq kI hovygw[  (a)  3𝑟: 1     (b)  2: 𝑟     (c)  3: 𝑟       (d)  1: 3𝑟    

34. id`qI geI AwikRqI _____ Aqy _____ dy sMXojn nwl iml ky bxI hY[ 
         (a)  bylx Aqy ArD golw        (b)  SMkU Aqy do ArD goly    
     (c) bylx Aqy do ArD goly    (d)  Gxwv Aqy do ArD goly 

35. iksy gyNdbwj duAwrw 10 ikRkt mYcW ivc̀ ley gey ivktW dI sMiKAW hyT ilKy Anuswr hY: 

2, 3 , 4 , 5 , 3 , 2 , 1 , 3 , 2 , 3  iehnW AMkiVAW dw bhulk hovygw[ (a)  1          (b)   3        (c)   2         (d)    4 

36. ivcln sImW kyNdrI pRivrqI dw mwp nhIN hY[ (shI/glq) 

37. bhulk = 3 (m`iDkw) − _______ (a)   m`Dmwn  (b)   3 (m`Dmwn)   (c)   2 (mD̀mwn)    (d)   2 (bhulk)     

38. jykr P(E)=0.015  hY qW P(E nhIN) dI sMBwvnw kI hovygI[ (a)  0.95    (b)   0.85   (c)   0.985     (d) 0.085 

39. vrgIkRq AMkiVAW dy vrg AMqrwl 20-30 dw vrg icMnH ikMnw hovygw[ (a)  10  (b)   25  (c)   27.5   (d)  30 

40. iksy Gtnw dI sMBwnvw _____ qoN v`fI jW ausdy brwbr huMdI hY Aqy ____ qoN CotI jW ausdy brwbr huMdI hY[ 

(a)  1, 0         (b)   0, 1          (c)   1, 2            (d)  0,
1

2
 

41. vrgIkRq AMkiVAW dw m`iDkw pqw krn dw sUqr L +  
𝑓1−𝑓0

2𝑓1−𝑓0−𝑓2
 × ℎ hY[ (shI/glq) 

42. iksy pRXog dIAW swrIAW AwrMiBk GtnwvW dIAW sMBwvnw dw joV ___ hMudw hY[ (a)  0  (b)  −1  (c)  1  (d)  
1

2
   

43. vrgIkRq AMkiVAW dy vrg AMqrwl 25-30 dw vrg mwp ikMnw hovygw[ (a)  27.5    (b)  30    (c)   5   (d) 25  

44. ie`k inSicq Gtnw dI sMBwvnw  1 huMdI hY[    (shI/glq) 

45. iksy AsMBv Gtnw dy vwprx dI sMBwvnw hovygI[ (a)  0       (b)   0  qoN 1        (c)   1         (d)  
1

2
   

46. iehnw iv`coN ikhVI iksy Gtnw dI sMBwvnw nhIN ho skdI[  (a)   
4

7
      (b)  0.5     (c) 11%       (d)  

3

2
 

47. ie`k pwsy au~pr ABwj sMiKAW Awaux dI sMBwvnW ______ huMdI hY[  (a)   
1

3
      (b)   

1

6
      (c)   

1

2
       (d)  

3

4
  

48. ie`k bksy iv`c 3 nIly, 2 ic`ty Aqy 4 lwl bMty hn[ jykr ies bksy iv`coN ie`k bMtw Acwnk k`iFAw jWdw hY 

qW kI sMBwvnw hovygI ik ieh bMtw lwl rMg dw hovy[   (a)   
2

9
        (b)   

4

9
        (c)   0          (d)  

3

9
 

49. jykr P  E    Gtnw ‘E  nhIN’ dI sMBwvnw nMU drswauNdw hY qW P E +  P  E   = _____  

(a)   1        (b)   
1

2
           (c)   0            (d)  −1 

50. jykr SMkU dw AwDwr qy aucweI, bylx dy AwDwr qy aucweI dy brwbr hovy qW auhnW dy GxPlW iv`c  

Anupwq 1:3 hovygw[   (shI/glq)  


